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Introduction



Unit 2: Non-British period study


Component 2 involves the study of a period of non-British history, and at AS-level will also involve the evaluation of a historical interpretation from one of two named topics. The type of essay set for both AS and A-level is similar, but the AS mark scheme does not have a Level 6 (see page 7).


The Cold War in Europe 1941–1995


The specification lists the contents under four Key Topics:





•  Key Topic 1 – The origins of the Cold War to 1945



•  Key Topic 2 – The development of the Cold War 1946–1955



•  Key Topic 3 – The Cold War 1956–1984



•  Key Topic 4 – The end of the Cold War 1984–1995





Although each period of study is set out in chronological sections in the specification, an exam question may arise from one or more of these sections.


AS-level


The AS examination includes all the content.





•  Section A: you are required to answer one question from a choice of two. These will be traditional essays and will require you to use your knowledge to explain, analyse and assess key features of the period studied and then to reach a judgement about the issue in the question. The question is worth 30 marks.



•  Section B: you are required to answer one interpretation question. The specification names the two Key Topics from which the interpretation will be drawn. Questions will require you to evaluate, in the form of either one or two sentences, the strengths and limitations of a given historical interpretation. You do this by applying your own knowledge and awareness of the debate to the given interpretation. The question is worth 20 marks.





The exam will last one and a half hours, and you are advised to spend slightly more time on Section A.


At AS, Unit 2 will be worth a total of 50 marks and 50 per cent of your AS.


A-level


The A-level examination at the end of the course includes all the content. You are required to answer one question with two parts from a choice of two questions.





•  Each question will have two parts. Question (a) will be a short essay in which you are asked to analyse two issues and reach a judgement as to which is the more important or significant. Question (b) is a traditional period study essay and will require you to use your knowledge to explain, analyse and assess key features of the period studied and then to reach a judgement about the issue in the question.



•  The short essay is worth 10 marks and the traditional essay is worth 20 marks.



•  The two parts of each question will be drawn from different areas of the specification.





The exam will last for one hour. You should spend about 20 minutes on Question (a) and 40 minutes on Question (b).


At A-level, Unit 2 will be worth a total of 30 marks and 15 per cent of your A-level. In both the AS and A-level examinations, you are being tested on:





•  your ability to use relevant historical information



•  your skill in analysing factors and reaching a judgement.





In the AS examination you are also being tested on your ability to analyse and evaluate the different ways in which aspects of the past have been interpreted.



How to use this book



This book has been designed to help you develop the knowledge and skills necessary to succeed in the examination.





•  The book is divided into four sections – one for each section of the AS and A-level specifications.



•  Each section is made up of a series of topics, organised into double-page spreads.



•  On the left-hand page, you will find a summary of the key content you need to learn.



•  Words in bold in the key content are defined in the glossary (see page 86).



•  On the right-hand page, you will find exam-focused activities.





Together, these two strands of the book will provide you with the knowledge and skills essential for examination success.
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Examination activities


There are three levels of exam-focused activities:





•  Band 1 activities are designed to develop the foundation skills needed to pass the exam. These have a green heading and this symbol: [image: ]




•  Band 2 activities are designed to build on the skills developed in Band 1 activities and to help you to achieve a C grade. These have an orange heading and this symbol: [image: ]




•  Band 3 activities are designed to enable you to access the highest grades. These have a purple heading and this symbol: [image: ]






Some of the activities have answers or suggested answers, which can be found on pages 91–96. These have the following symbol to indicate this: [image: ]


Each section ends with exam-style questions and sample answers with an examiner’s commentary. This will give you guidance on what is expected in order to achieve the top grade.


You can also keep track of your revision by ticking off each topic heading in the book, or by ticking the checklist on the contents page. Tick each box when you have:





•  revised and understood the topic



•  completed the activities.






Mark schemes



For some of the activities in the book it will be useful to refer to the mark schemes for this paper. These have been abbreviated below.


AS-level






	Level

	Essay

	Interpretation






	5

	Mostly focused, supported answer with good analysis and evaluation to reach a supported judgement. 25–30


	Very good analysis of the interpretation, aware of the debate and use of detailed knowledge to evaluate the strengths and limitations. 17–20







	4

	Some focus with support, analysis with limited evaluation and judgement. 19–24


	Good analysis of the interpretation, some awareness of the debate and use of knowledge to evaluate the strengths and limitations. 13–16







	3

	Partial focus on the question, with some knowledge and analysis, but little or no judgement. 13–18


	Partial analysis of the interpretation, some knowledge and awareness of the debate. May be limited in treatment of strength or limitations. 9–12







	2

	Focus is descriptive and may be more on the topic generally than on the question asked. Any analysis may be implied. 7–12


	Limited analysis, may describe the interpretation and the debate. Any evaluation is implied or superficial. 5–8







	1

	Focus on the topic and attempts at analysis will be little more than assertion. 1–6


	Focused more on the topic generally than on the given interpretation. Knowledge is general and evaluation is asserted. 1–4








A-level






	Level

	Short-answer essay

	Essay






	6

	Analyses and evaluates both factors with detailed knowledge to reach a developed judgement. 9–10


	Well focused, supported answer with very good analysis and developed evaluation to reach a supported and sustained judgement. 17–20







	5

	Analyses and evaluates both factors with some knowledge to reach a developed judgement. 7–8


	Mostly focused, supported answer with good analysis and evaluation to reach a supported judgement. 13–16







	4

	Some analysis and evaluation of both factors, with some support and judgement. 5–6


	Some focus with support, analysis with limited evaluation and judgement. 10–12







	3

	Partial analysis and evaluation with some knowledge to reach a basic judgement. 3–4


	Partial focus on the question, with some knowledge and analysis, but little or no judgement. 7–9







	2

	Limited analysis and knowledge, with a simple judgement. 2


	Focus is descriptive and may be more on the topic generally than on the question asked. Any analysis may be implied. 4–6







	1

	General analysis and knowledge with assertion. 1


	Focus on the topic and attempts at analysis will be little more than assertion. 1–3











1 The origins of the Cold War to 1945



The situation in 1941, ideological differences and attitudes


Ideological differences and attitudes


The Bolshevik Revolution in Russia in October 1917 led to a civil war between the ‘reds’ and their opponents the ‘whites’. The decision of the new revolutionary government to seek peace alienated Russia’s allies: Britain, the USA, France and Japan. These powers were hostile to the aims and ideology of the new Russian regime led by Vladimir Lenin. The Russian Civil War created a lot of bitterness and the new Union of Soviet Socialist Republics was deeply divided from the Western powers.


Ideology


Lenin and the Bolsheviks were inspired by Karl Marx (1818–83), who believed that the more advanced industrial countries were bound to experience revolution and that the collapse of the capitalist system was inevitable. Just as the new industrial middle class had replaced the aristocracy, so they in turn would be replaced by the industrial workers (proletariat). First a working-class dictatorship would be established; then the state would wither away and there would be a community of equals, an ideal classless society.
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Capitalism versus communism


Marx saw capitalism as a system of exploitation. Money was invested in businesses (capital). This meant that bosses and investors needed profits in order to invest more money to make more profits. This was possible only by exploiting workers, and it resulted in a pointless pursuit of money for its own sake and in deep social and economic inequality. It also created political inequality as the rich dominated politics. Defenders of capitalism pointed out that invested money created jobs, social and economic opportunities, prosperity and healthy competition, which helped consumers. They also linked the economic freedom to invest, set up businesses and make money with political freedom.
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Opposition


Western powers continued to see Communist Russia as an enemy. They had been shocked by the murder of the Tsar and his family, and by the Bolshevik hopes of world revolution promoted by the Comintern, an international organisation to promote Communism.


The interwar years


The rise of fascism in Germany and Italy led to a big political divide in Europe.


The USSR remained isolated. Stalin pursued dramatic industrialisation policies accompanied by severe repression of the Russian people and purges of the Communist party. This seemed dangerous to many in the West.


Stalin’s attempt to unite all left-wing groups against Nazism by creating a Popular Front only served to worry conservative opinion. His support for the Spanish Communists during a Civil War in Spain (1936–39) also led to fears. Driven by a need to protect the USSR, Stalin signed a pact with Hitler in August 1939. This seemed to show that communism had more in common with fascism than democracy.


The situation by 1941


When World War II broke out in 1939, Stalin regained lost lands in the Baltic states and Poland, which were subjected to a tyrannous repression. The West sympathised with Finland, which resisted occupation in the Winter War of 1939–40. Indeed, Britain seriously contemplated declaring war on both the USSR and Germany.


By 1941 the hostility between the USSR and the West was well established:





•  There were deep ideological differences.



•  The West feared Russian influence.



•  The USSR resented its exclusion from the diplomacy of the 1930s.



•  The West despised the Nazi–Soviet Pact and Russian expansion in Eastern Europe.
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[image: ] Concept map


Make a copy of the concept map below and use the information on the opposite page to add detail to it, showing why there was long-term opposition in the West to the communist regime in Russia.
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[image: ] Turning assertion into argument      [image: ]


Below is a sample question and a series of assertions. Read the exam question and then add a justification to each of the assertions to turn it into an argument.




‘The fear of the spread of Communist Revolution was the most important cause of the West’s distrust of the Soviet Union.’ How far do you agree?
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The West feared the spread of communism because…


_________________________


_________________________
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However, it was Stalin’s alliance with Hitler that caused most concern, because…


_________________________


_________________________
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Although there were also concerns in the West about Stalin’s domestic policies because…


_________________________


_________________________
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Wartime tensions in the Grand Alliance



The Grand Alliance comprised Britain, the USA and the USSR, against the so-called Axis powers: Germany, Italy and Japan. Britain had stood alone against Germany and Italy from 1940 to 1941, though the USA had given some assistance. In June 1941, German forces invaded the USSR. Putting all ideological differences aside, Churchill, the British prime minister, offered support. The alliance was joined by the USA after Japan launched an attack on the US naval base at Pearl Harbor in December 1941.


The events of war brought about an unexpected alliance between communist Russia and the capitalist West. The USA and Britain had pledged their support for democracy in the Atlantic Charter signed in 1941. The Soviet Union, however, was ruled by a one-party dictatorship.


The second front


The German invasion of 1941 took the USSR by surprise, and it quickly suffered millions of casualties. Only a determined effort stopped the Germans from taking Moscow and Leningrad (St Petersburg). In 1942 it then faced a further threat, as the Germans attacked Stalingrad. Losses were very high and, not surprisingly, Stalin looked to a British and US invasion of northern France for relief. German defences were not yet strong in northern France and the war in Russia took huge numbers of German resources. Invading and creating a second front would threaten Hitler with war on two fronts and relieve the terrible pressure on the USSR. Yet, despite Russian pleas, and indeed the support of leading US commanders, no second front was created until June 1944. British leaders were convinced that it would be too risky, especially after the failure of a raid on the occupied French port of Dieppe in 1942 incurred heavy casualties. Instead, British and US efforts were concentrated first on North Africa, then on an invasion of Sicily and Italy in 1943. Relatively limited land forces were involved, and casualties did not match the heavy losses suffered by the USSR. The suspicion in the USSR was that the capitalist West wanted the dictatorships to fight each other to a standstill.


The Russian advance, 1943–45


After the German failure at Stalingrad in February 1943, the Russians were able to go on the offensive. This opened up the possibility of Russian expansion in Eastern Europe. Stalin’s decision not to support a Polish uprising in Warsaw in 1944 allowed the Germans to destroy resistance before Russia moved in to take the city, which alarmed the West. It seemed that Stalin was happy to see German forces destroy Polish patriots because this would make future Soviet control of Poland easier. This followed revelations of a Soviet massacre of influential Polish officers and leaders in Katyn Forest in 1940.


Military cooperation


Britain and the USA had collaborated closely in the war and the high point was D-Day, the joint invasion of France in June 1944. Though supplies and aid had gone to Russia, there were no similar joint military operations. Britain and the USA did not share the key military secret of the war – the development of atomic weapons – with the USSR. For its part, the USSR did not until the very end of the war join in the struggle against Japan.


Relations between the members of the alliance remained strained:





•  The USA disliked the idea of a war that strengthened the British Empire, which it distrusted.



•  Churchill feared Russian expansion and thought that the USA was not taking the threat seriously.



•  Stalin thought that the West did not understand the sheer scale of Russian losses or that it was Russian forces that had borne the brunt of the war effort.





The wartime alliance gave way to Cold War.
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[image: ] Delete as applicable


Below is a sample exam question and a paragraph written in answer to this question. Read the paragraph and decide which of the possible options (in bold) is the most appropriate.




‘The Western powers provided the Soviet Union with little support during World War II.’ How far do you agree?
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It is fair/unfair to argue that the Western powers provided the Soviet Union with little support during World War II. The Western powers were very quick/fairly quick/very slow to provide assistance to the Soviet Union by opening up a second front to ease the pressure on Soviet forces. Churchill promised to help/declined to give support to Russia. Moreover, military aid was/was not sent to the Soviet Union from Britain, which was very helpful/not very helpful in enabling Russia to resist the German advance. However, there was a great deal of/some/little military cooperation with the Soviet Union and this was seen most clearly over the atom bomb. The West was very concerned/somewhat concerned/pleased by Soviet expansion and its advance westwards. The lack of support given by Russia to the Warsaw Uprising and the earlier discovery of the Katyn massacre pleased/concerned the Western powers as it would make Soviet control of Poland harder/easier. The Soviet Union believed that the West wanted it to be victorious/be exhausted/expand as a result of the conflict with Germany and that this would strengthen/weaken its position after the war. This made relations between the West and East stronger/weaker.
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[image: ] Support your judgement      [image: ]


Read the sample exam question and two basic judgements below. Support the judgement that you agree with most strongly by adding a reason that justifies this judgement.


Tip: whichever option you choose, you will have to weigh up both sides of the argument. You could use phrases and words such as ‘whereas’ or ‘although’ in order to help the process of evaluation.




‘The wartime alliance between the West and East was a success.’
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The wartime alliance was a failure because…


_________________________


_________________________


_________________________


_________________________


_________________________
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The wartime alliance was a success because…


_________________________


_________________________


_________________________


_________________________


_________________________
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Tensions and difficulties at the conference at Tehran



Churchill, Stalin and Roosevelt met together for the first time at Tehran, from 28 November to 1 December 1943. By this time, the tide had turned after British victories in the Mediterranean and Russian advances following the German defeat at Stalingrad. The meeting of the ‘big three’ considered key elements in a post-war world.


It confirmed the meeting of foreign ministers held in Moscow in October that had established a European Advisory Commission to discuss the partition of Germany and also issued a Declaration of General Security proposing a United Nations.


The United Nations


Roosevelt and Stalin discussed how the new UN would work, with the key roles of the ‘four policemen’ – Britain, the USA, the USSR and China – ensuring peace. This gave the USSR an importance in the new organisation that it had never had in the old League of Nations.


Poland and the Baltic


It was agreed that post-war Poland would be redrawn so that the boundary would be the Oder-Neisse Rivers. This involved moving the boundaries westwards, giving Russia the territories in eastern Poland that it had occupied in 1939–40. This was a sign that Russia would keep the lands it had taken and that the older boundaries of pre-1917 Russia would be restored. Russia would also keep the Baltic states of Latvia, Lithuania and Estonia, made independent after World War I. This was hugely significant as Britain had gone to war in 1939 in defence of Poland but now was accepting a major change in its boundaries.


Japan


Roosevelt secured Stalin’s agreement to declare war on Japan at a future date in return for territories – South Sakhalin, the Kurile Islands and access to Port Arthur.


The invasion of France


The invasion of northern France by Britain and the USA was agreed for May 1944. Churchill would have preferred an invasion of the Balkans but the pressure was now irresistible. Stalin agreed to mount a major attack at the same time to distract German forces. This met the demand from Stalin for a second front.


Turkey


It was agreed that the Allies would persuade Turkey to enter the war in return for support. This did not occur until 1945.


Germany


The conference discussed the future partition of Germany, which would be raised in the Moscow Conference (December 1945).


Winners and losers





•  Roosevelt had gained Russian support – at least in the future – against Japan and had taken Britain away from a Balkan invasion to the policy favoured by the USA, of an invasion of northern France. He had established good personal relations with Stalin.



•  Stalin’s military victories in 1943 gave him prestige. The other world leaders had travelled a long way to meet him, while he was relatively close to home and the conference took place in the Soviet Embassy. He had gained the Allies’ acceptance of expansion into Eastern Europe and an agreement for a second front in northern Europe. The USSR was set to play a much greater part in international affairs in the future United Nations. He had also divided Roosevelt and Churchill. Their personal relations at Tehran were much less close than they had been.



•  Churchill, on the other hand, felt slighted by private meetings during the conference between Roosevelt and Stalin and by Roosevelt’s coolness towards him. Britain was committed to a second front despite Churchill’s grave misgivings. Large areas of Poland were to be given to Russia, which was a blow to Britain’s prestige as it had gone to war in 1939 specifically to defend Polish independence against Germany.





The Tehran Conference was a major turning point in the re-emergence of Russia as a major world power and key decisions were taken or confirmed about the post-war world.
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[image: ] Develop the detail      [image: ]


Below is a sample exam question and a paragraph written in answer to this question. The paragraph contains a limited amount of detail. Annotate it to add additional detail to the answer.




‘Churchill failed in his aims at the Tehran Conference.’ How far do you agree?
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Churchill had a number of aims at Tehran. He had some limited success, but there were more failures, most notably over the second front and his failure to secure agreement on his preferred policy. Churchill was concerned about the increasing presence of the Soviets in the East of Europe, particularly given the reason why Britain had gone to war. Churchill was also concerned about his relationship with Roosevelt and the improvement in relations between Roosevelt and Stalin.
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[image: ] Introducing an argument


Below is a sample exam question, a list of key points to be made in the answer, and a simple introduction and conclusion for the answer. Read these and then, using the information on the opposite page, rewrite the introduction and the conclusion in order to develop an argument.




‘The greatest success for the Soviet Union at the Tehran Conference was the territorial gain in Poland and the Baltic.’ How far do you agree?





Key points





•  Russia gained the territories in eastern Poland, which it had occupied in 1939–40.



•  Russia would keep the Baltic states.



•  The Western powers agreed to open a second front in May 1944.



•  Stalin had gained acceptance of Soviet expansion in Eastern Europe.



•  The USSR was set to play a greater role in world affairs.



•  Stalin had been able to divide Roosevelt and Churchill.





Introduction
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There were many successes for the Soviet Union at the Tehran Conference. Stalin had been able to make territorial gains in both Poland and the Baltic states. He had been able to gain acceptance for further Soviet expansion in Eastern Europe. Stalin was also pleased as he was able to secure agreement from the Western powers to open a second front in France, something Churchill had been reluctant to do. With the Soviet victories against Germany, it had increased its prestige and would play a greater role in world affairs. Its position was further enhanced by the division Stalin had created between Roosevelt and Churchill.
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